22

()

8,633

)

(H14.12.3

(H17.12.9

3 23
H17:5965 H18: 7,133 H19:6,914 H20: 6,484 H21:5,630 H22:6,359
(
H17:9,772 H18:10,369 H19:10,440 H20: 7,833 H21:8,136 H22:8,125
(
H17. 893 H18:819 H19:906 H20:850 H21:1,508 H22:1,527
30,000,000 5,000,000 16.7% 18,900,000  63.0%
( 1,600,000 5.3%
( 1,600,000 5.3%
22
H19 H20 H21 H22
5
| 0
16 10 11 6
| 1 1 1 0
26 27 24 29
| 0
0
27 28 29 29
19 16 16
2 2 0
66 3,472 59 3,120
22 21
(A) 297,856 (216,660) 0 0)
(B) 277,385 (215:873) 0 0
(A)-(B) 20471 (787) 0 )
20,384 (654) 0 ©)
00 (00) 1000  (926) 0 0
1073 (100.3) 3160  (984.) 11930  (11,450)
45  (452) 528  (56.6) 0 0
245  (183) 515  (551) 0 0)
284 . . .
( 14) 00  (00) . 0
00 (0.0)
( 0 0




20 21 22

(A) 220,593 216,660 297,856

91 59 35

219,484 215,117 296,325

(B) 218,911 215,873 277,385

179,907 176,406 209,413

0 0 0

80,872 84,243 92,864

39,004 39,466 67,972

3,766 2,209 6,171

14,482 11,113 16,078

(C)=(A)-(B) 1,682 787 20,471

(D) 27 0 0

(E) 0 133 87

(F)=(D)-(E) 27 133 87

(G)=(C)+(F) 1,709 654 20,384

(H) 137,209 138918 139572

()=(G)+(H) 138,918 139,572 159,956

0 0 0

) 0 0 0

(K) 11,100 11,100 11,100

(L)=(3)+(K) 11,100 11,100 11,100

(M)=(G)+(J) 1,709 654 20,384

(N) 148,309 150,018 150,672

(0)=(M)+(N) 150,018 150,672 171,056
20 21 22

81,975 77,368 124,409

71,720 66,825 110521

78,729 85,292 90,398

23,600 30,000 30,000

46,455 47,236 48,860

3,830 4,125 4,387

7,626 8,110 9,472

8,674 8,056 11,537

160,704 162,660 214,807

6,855 7,862 39,363

2,197 3,735 39,363

3,830 4,125 4,387

3,830 4,125 4,387

10,685 11,987 43,750

11,100 11,100 11,100

11,100 11,100 11,100

138919 139573 159,956

12,500 18,900 18,900

46,455 43,110 44,472

150,019 150,673 171,056

160,704 162,660 214,806
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